AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicabl	le box) RAL CANDIDA	ATE	☑ STAT	E/LOCAL CA	NDIDATE
To Ava Window	ail Themselve w, Federal Ca	es of The Lowendidates Mus	est Unit Cha t Sign The (rge During a Certification C	Political In Page 3
Station and WTNJ, WAXS				Date : 5/14/20)
I, Randy Halse	е у				*
		* - * - * - * - * - * - * - * - * - * -			
		rat		****	political
		Delegates, 32nd De	elegate District		
in the Primary			allinia de la companione	* **	
election to be he	eld on: June 9th, 2	2020			
do hereby reque	est station time as	follows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		See attached	schedule		
	The state of the s			TAMES I	
Total Charg	ges: \$1,494.00				

CANDIDATE CERTIFICATION

In Order For Federal Candidates to Receive The Lowest Unit Charge During a Political Window, the Following Certification is Required:

I,	e of federal candidate or authori	:	a short shor
-	broadcast (in whole or in part)		y mat the programming
	☐ does	does not	
	to an opposing candidate (check camming that does refer to an op		ertify that for the
(chec	k applicable box)		
□Z	the radio programming contain identifies the candidate, the off approved the broadcast.		
	the television programming co- image of the candidate for a du- displayed printed statement ide the broadcast, and that the cand- paid for the broadcast.	ration of at least four seconds intifying the candidate, that the	e, and a simultaneously e candidate approved
-4	Say Halay signature of ca	andidate or authorized committee	5-15-2000
	printed name		date

For programming that, in whole on national importance," list the matter	r in part, "communicates a message relating ters below:	g to any political matter of
		and a second
	.1.	
I represent that the payment for the	ne above described broadcast time has been	furnished by:
Committee to 8	et Randy Habey	
•	ce the time as paid for by such person or entry is either a legally qualified candidate or a	
committee/organization of the leg		
Barbar Halory	andidate's authorized committee is:	
	s political advertising policies, including: a ser sales practices (not applicable to federal	• •
	DISCRIMINATE OR PERMIT DISCRIMITHE PLACEMENT OF ADVERTISING.	NATION ON THE BASIS
To Be Signed By	Candidate or Authorized C	ommittee
5-15-2020 Date	Saudy Haloly Signature	
To Be Sign	ed By Station Representati	ive
Accepted	Accepted in Part	Rejected
Signature	Printed Name	Title



WAXS-FM **Southern Communications Corporation** 306 South Kanawha Beckley, WV 25801 (304) 253-7000

RANDY HALSEY

WAXS-FM Order Confirmation

OrderID:

3098-001

Sponsor:

P-Randy Halsey P-Randy Halsey

Product: Estimate/PO:

AccountRep:

Cooper, Sonya

BillingCycle:

End-of-Schedule

InvoiceType: Run Dates:

Detail

5/18/2020 - 6/9/2020

Items Ordered:

51

Ordered Amount: \$728.00

Scheduled Station(s): WAXS-FM

Pri	Inted 5/14/2020 4:14:58 P	PM																Page 1
	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Frl	Sat	Sun	Week Total	Length	Descriptio	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	5/18/2020 - 5/22/2020	All Weeks	06:00 AM - 10:00 A	1	1	1	1 =	1			5	:30	Spot		P3098-001	5	15.00	75.00
02	5/18/2020 - 5/22/2020	All Weeks	10:00 AM - 03:00 P	1 =	1	1	1	1			5	:30	Spot		P3098-001	5	14.00	70.00
03	5/21/2020 - 5/22/2020	All Weeks	03:00 PM - 07:00 P				1	1			2	30	Spot		P3098-001	2	14.00	28.00
04	5/25/2020 - 5/29/2020	All Weeks	06:00 AM - 10:00 A	1	1	1	1	1			5	:30	Spot		P3098-001	5	15.00	75.00
05	5/25/2020 - 5/29/2020	All Weeks	10:00 AM - 03:00 P	1	- 1	1	1	1			5	30	Spot		P3098-001	5	14.00	70.00
06	5/25/2020 - 5/29/2020	All Weeks	03.00 PM - 07.00 P	1	- 1	1	1	1			5	30	Spot		P3098-001	5	14.00	70.00
07		All Weeks	06 00 AM - 10:00 A	1	1	1	1	1	1		6	30	Spot		P3098-001	8	15.00	120.00
08	6/1/2020 - 6/9/2020	All Weeks	10 00 AM - 03.00 P	- 1	1	- 1	- 1	- 1	1		6	30	Spot		P3098-001	8	14.00	112.00
09	6/1/2020 - 6/8/2020	All Weeks	03.00 PM - 07.00 P	1	1	- 1	- 1	- 1	1		6		Spot		P3098-001	7	14.00	98.00
10	6/8/2020 - 6/8/2020	All Weeks	07.00 PM - 11.59 P	1							1	30	Spot		P3098-001	1	10 00	10.00
	End-of-Schedule Pro	ojected Billing	;			•					•							
	Apr-20	1	0.00 May	-20			0.	00			Jun-20		728	.00	Q2	-2020		728.00

Confirmed Correct; Payment Guaranteed

Accepted for WAXS-FM



WAXS-FM Invoice

Invoice ID: 20060196 Invoice Date: 6/9/2020 Account ID: 3098 Order ID: 3098-001 Account Rep: Cooper, Sonya

Amount Due: \$0.00

Amount Paid Billing Questions Please Call (304) 596-8936

or Email- billing@radiocitywv.com

RANDY HALSEY

Sponsor: P-Randy Halsey

P-Randy Halsey

Page 1

Date	Time	Length	Description	CopyID / ISCI Code	Cos
5/18/2020	06:37 AM	:30	Spot	Political	15.00
5/18/2020	02:35 PM		Spot	Political	14.00
5/19/2020	09:37 AM	:30	Spot	Political	15.00
5/19/2020	02:50 PM	:30	Spot	Political	14.00
5/20/2020	08:21 AM	:30	Spot	Political	15.00
5/20/2020	12:50 PM	:30	Spot	Political	14.00
5/21/2020	08:21 AM		Spot	Political	15.00
5/21/2020	11:50 AM		Spot	Political	14.00
5/21/2020	04:20 PM	:30	Spot	Political	14.00
5/22/2020	09:51 AM		Spot	Political	15.00
5/22/2020	01:35 PM	:30	Spot	Political	14.00
5/22/2020	03:50 PM	:30	Spot	Political	14.00
5/25/2020	09:21 AM		Spot	Political	15.00
5/25/2020	01:20 PM		Spot	Political	14.00
5/25/2020	04:50 PM	:30	Spot	Political	14.00
5/26/2020	09:37 AM		Spot	Political	15.00
5/26/2020	12:50 PM		Spot	Political	14.00
5/26/2020	03:50 PM	:30	Spot	Political	14.00
5/27/2020	08:51 AM		Spot	Political	15.00
5/27/2020	02:20 PM		Spot	Political	14.00
5/27/2020	05:35 PM	:30	Spot	Political	14.00
5/28/2020	09:51 AM		Spot	Political	15.00
5/28/2020	12:20 PM	:30	Spot	Political	14.00
5/28/2020	06:20 PM	:30	Spot	Political	14.00
5/29/2020	09:21 AM	:30	Spot	Political	15.00
5/29/2020	11:50 AM	30	Spot	Political	14.00
5/29/2020	03:50 PM	:30	Spot	Political	14.00
6/1/2020	09:51 AM	:30	Spot	Political	15.00
6/1/2020	11:50 AM	:30	Spot	Political	14.00

Continued

WAXS-FM Invoice

Invoice ID: 20060196 Invoice Date: 6/9/2020

Sponsor: P-Randy Halsey P-Randy Halsey

Page 2

Date	Time	Length Description	CopyID / ISCI Code	Cost
6/1/2020	04:35 PM	:30 Spot	Political	14.00
6/2/2020	07:51 AM	:30 Spot	Political	15.00
6/2/2020	01:35 PM	:30 Spot	Political	14.00
6/2/2020	03:50 PM	:30 Spot	Political	14.00
6/3/2020	09:21 AM	:30 Spot	Political	15.00
6/3/2020	12:50 PM	:30 Spot	Political	14.00
6/3/2020	05:20 PM	:30 Spot	Political	14.00
6/4/2020	07:21 AM	:30 Spot	Political	15.00
6/4/2020	02:50 PM	:30 Spot	Political	14.00
6/4/2020	04:20 PM	:30 Spot	Political	14.00
6/5/2020	07:51 AM	:30 Spot	Political	15.00
6/5/2020	01:20 PM	:30 Spot	Political	14.00
6/5/2020	06:20 PM	:30 Spot	Political	14.00
6/6/2020	08:51 AM	:30 Spot	Political	15.00
6/6/2020	02:20 PM	:30 Spot	Political	14.00
6/6/2020	05:50 PM	:30 Spot	Political	14.00
6/8/2020	09:37 AM	:30 Spot	Political	15.00
6/8/2020	01:20 PM	:30 Spot	Political	14.00
6/8/2020	06:50 PM	:30 Spot	Political	14.00
6/8/2020	09:20 PM	:30 Spot	Political	10.00
6/9/2020	07:37 AM	:30 Spot	Political	15.00
6/9/2020	02:20 PM	:30 Spot	Political	14.00
		51 Total Iter	ms Total Cost:	\$728.00
			5/19/2020 PrePayment Applied Check 1204:	-\$728.00
			Amount Due:	\$0.00

\$0.00

Amount Due:

\$0.00